Latitude (°)

Latitude (°)

90 =

(00}
o

70 —

Northern hemisphere

..............................................................................................................................................................

.....................................................................................................................................................

Local Time (hours)
Southern hemisphere

[

..............................

....................................

Local Time (hours)



